Scenario Template

The Shortest Line Mystery 

(Graphing Calculator)
The Scenario:  A robot is running very low on power and needs to recharge itself.  It knows it needs to get to the Charging Station as fast as possible, so you need to help it find the fastest path.  In its current power state, it can only travel 6 feet per minute over solid ground, which is everything below the horizontal line in the picture.  It can only travel at 3 feet per minute through shallow water, which is everything above the line.  As it is driving along a path it senses a Charging Station (marked at point C).  If the robot starts at point A find the most efficient path for it to get to point C.  It can travel a direct path or any distance between points A and B and then stop at an arbitrary point N and then cut through the water to the charging station.   Note that the distance between points A and B is 24 feet and the distance between points B and C (the Charging Station) is 12 feet.  Also note that segment BC is perpendicular to segment AB at point B.   Use the Data Table Template on the following page to complete this activity.
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